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CBT Practice test model answers

Financial Performance (FNPF)

Practice assessment 4

Section 1

Task 1.1

[image: image2.png]Complete the standard cost card below for 1,000 units of Beta.

IMaterial X 50 75| 3750
IMaterial Y 100 120 12000
|Labour 1500 12 18000
[Fixed overheads 1500 7 10500
[Total





Task 1.2
[image: image3.png]Calculate the following variances, if any.

|Direct material usage 26000 ([acverse _ |hd

|Direct matertal price 48500 |[adverse,

I

[pirect labour efficiency 4250 |[favouravle g

[pirect labour rate 9750 | [favourable

J





Task 1.3
[image: image4.png](a) Complete the following sentences.

e edevmesavonmevrancs s £ [foooa ] [Fovaueoe Kl

e feed cverhead epenciure vatance s £[20008 Er—

You have been given the following information:
+Budgeted overheads are £52,000

+Budgeted outputis 2,600 units and 10,400 labour hours

« Actual outputis 2,800 units and 10,900 actual labour hours
« Actual overheads are £46,500

(b) Complete the following sentences.

The fixed overhead efficiency varianceis £ [1500 [Favourale

‘The fixed overhead capacity variance is  £[2500 [Favourale





Task 1.4
[image: image5.png](a) Drag and drop the correct variance into the correct column and enter the standard cost for actual
‘production, the total variance and the actual cost for actual production in the appropriate boxes. Enter
‘minus signs where necessary.

st for actual production 1792000
ariance ourable
[Direct materials X1 price 56000
Ipirect materials X1 usage £140,000
[Direct materials X2 price £56,000
[Direct materials X2 usage 50000
IDirectabour rate 270,000
[Directabour effciency £125,000
|Fixed overhead expenditure £60,000
[Fxed overhead capacity £165,000
[Fxed overhead effciency £105,000
Irotatvariance 421000 413000 8000
1784000

|Actual cost of actual production





Task 1.4, continued
[image: image6.png](b) Which of the following statements are correct?

() The fixed overhead expenditure variance compares the actual amount spent on fixed production
‘overheads with the budgeted fixed production cost.

(i) The fixed overhead expenditure variance compares the actual amount spent on fixed production
‘overheads with the amount spent according to the budget flexed to the level of actual output.

(i) The labour efficiency variance and the fixed overhead efficiency variance are both calculated
using the actual labour hours.

() The labour efficiency and the fixed overhead efficiency variances are both calculated using the.
budgeted and actual labour hours.





Task 1.5
[image: image7.png](a) Complete the table below by selecting the correct seasonal variation from the picklist.

Costpertte e300 oo oo eaeo
Underngtens 280 o0 a0 a0
—r - I - ([ - B





[image: image8.png](b) Complete the table to show the underlying cost and the forecast cost for each of the months October
to December.

|Underying costperkg  (£)| 290 310 330 350 370 390
|seasonalvariation  (5) 30 15 ) 15 8 2)
|actual cost forecast cost @) 320 325 325 388 378 378

(€) The cost per unit of material BPg was £50 per kilogram on 1 January X1 and is £90 per kilogram on 1 January

X1,

Using 1.January X1 s the base year, the cost index for material BP8 as at 1 January X7 is [180

‘The cost per unit has increased by [0

‘This is equivalent to an annual compound interest rate of 10.29%

9% between January X1 and X7.






Task 1.6

[image: image9.png]Direct material AA price variance

This variance is £4,000 adverse which means that the actual price paid was higher than expected. This may
e due to 3 poor harvest, it may also be due to a higher quality crop. The price may be linked to the usage
variance.

Direct material BB price variance

This variance is £8,000 favourable which means that the actual price paid was lower than expected. This may
e due to 3 good harvest, it may also be due to a lower quality crop. The price may be linked to the usage
variance.

Direct material AA usage variance

This variance is £3,500 andis probably favourable which means that less AA material was used than
planned. This is due to the change in mixto 46% AA The BB usage variance and A usage variances are
linked.





Task 1.6, continued
[image: image10.png]Direct material BB usage variance

This variance is £4,700 and s probably adverse which means that more BB material was used than planned.

This is ue to the change in mixto 54% BB. The BB usage variance and AA usage variances are linked and
overall the net costis £1200 A

Fixed overhead expenditure variance

This variance is £6,000 adverse. This means hat the costs were higher than budgeted. The new machine
cost £6,000 per month, therefore there must have been a saving elsewhere of £13,000

Fixed overhead volume variance

This variance is £5,000 favourable. This means that the actual volume was higher than expected. The new
Imachine may have enabled more production to be completed.





Section 2
Task 2.1
[image: image11.png]Calculate the following performance indicators for Company A and Company B (give answers to two.
decimal places):

[seling pice per unit 5000 5000
lateria cost perunit 10.00 10,00
|Labour cost per unit 15.00 1500
[Fxed producion cost per unit 1250 10,00
|6ross proft marain 2500 2000
[Proft margin 500 540
[Retur on net assets 10.00 1200
Inventory holcing period n days 303 754





Task 2.2
[image: image12.png](a) The full production cost per unitis.

213

£1083

(b) The marginal cost per unitis.

213

208125

205625





Task 2.2, continued
[image: image13.png](c) Anew customer has asked for a special price of £12 per unit for an order of 2,400 units.

The order shouid be [accepted ] because the [marginal costper unit | v |

. e e s

(d) Which of the following are correct? You may select more than one.

When resources are not scarce shortterm decision making should lookto maxmise
contribution

When resources are scarce shotterm decision making should ookto maximise Iy
‘contribution per imiting factor

‘Shortterm decision making should look to ensure that fixed costs are covered

‘Contribution is calculated by taking the sales price less the fixed costs





Task 2.3
[image: image14.png](a) The target total production cost per unitis £ [35

(b) The target fixed production cost per unitis £ [o

(€) The target total fixed production costis £ [270000

() The expected demand, variable costs and target profit margin (30%) all remain the same but the total fixed

production costs are now expected to be £200,000.

‘The margin of safety in order to achieve the target profit margin (30%)is [25 | % (to the nearest round
percentage).





Task 2.4
[image: image15.png]To:  [Finance Director Subject: [Gross ProfitMargins

From: [3aT Student Date:  [December 2011

(a) An explanation of why the gross profit margin for Option 1 is lower than Option 2, referring to the following:
Sales volume/ sales price

[The sales volume under option 2is 200% greater than S1, which will improve the margin ifthere are fixed
production costs, as the costs are spread over more units.

The sales price is higher under option 1 which will improve the margin because for every unit sold an
aditional 24 will be made.

Materials

[The materials cost per unitis lower under S2 and this increases the margin. There are economies of scale.





Task 2.4, continued

[image: image16.png]Labour

The labour cost per unitis lower for option 2 which will ncrease the margin. There may have been a leaming
cunve effect or simply economies of scale.

Fixed production costs

Fixed production costs remain constant Fixed production costs per unit are lower for option 2 because the

higher volume reduces the cost per unitfixed costs are spread over more units. This will increase the margin
for option 2.

The dominant factor

(Option 2 has the highest gross profit margin. Therefore the sales price cannot be a dominant factor (it acts to
reduce the margin), unless itis directy responsible for the 200% increase in sales volume. The sales
volume s likely to be the main reason for the increase in margin due to the fixed cost per unitfalling by £8.67.
450, the sales volume s likely to have caused the material and labour costto all (economies of scale). The
(dominant factor is therefore sales volume which is du to the advertising campaign.





Task 2.4, continued
[image: image17.png](b) An explanation of why the profit margins are different.

[The gross profit margin for option 2 s over 40% higher than option 1 which feeds down to the profit margin.
[Therefore you would expect the profit margin for option 2 to be much greater than option 1. However, the
increased advertising costs will reduce the margin for option 2 and due to the size of the advertising costs (£3|

million, 6 times higher than option 1) the profit margin for option 2 s lower than option 1. The profit margin is
also lower under option 2 because of the increased admin costs.

(c) A calculation of the fixed and variable cost components of the administration costs using the high-low method.
[The variable cost per unit of sales is £1 (2 marks) and the fixed cost s £150,000 (2 marks).

[ Workings:

|Admin costs for 50,000 units = £200,000

|Admin costs for 150,000 units = £300,000

Difference is 100,000 units and £100,000 therefore £1 per unit

So the variable cost per unitis £1, the fixed costs must be £150,000 (either £200,000 minus £1x 50,000 or
[£300,000 minus £1x 150,000)





